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1. మ��న ಹెచు
వ� అలు��ನా ఉప���య 

ఇ��ಗెగళ�  ಯావ గుణవು ప$�%ం%త-

ವాగుత*ದె ? 

 (1) ఇ��ಗెగళು ము�యువంతవು మతు* 

దుబ/ల ఆగుత*ದె. 

 (2) ఇ��ಗెగళು ఒణ3ద 4ౕಲె 

ಡెూంಕాగువంತె ಮాడుత*ದె. 

 (3) ఇ��ಗెగళು ಕెంపು బణ�=ంద హళ= 

బణ�ಕె? బదಲాగుత*ದె. 

 (4) ఇ��ಗెగళು గ��ಯా3 ಹాగు ಬాAಕె 

బరుత*ದె. 

 

2. దూరవనుC అಳెయువ సలుವా3, ವాహనద 

చక$ಕె? ಜెూౕHసಲాద ఉపకరణ ಯావುదు ? 

 (1) పಸెూJౕ �ౕటL 

 (2) ಪెಡెూ �ౕటL  

 (3) ఓಡెూౕ �ౕటL 

 (4) �Oౕಡెూౕ �ౕటL 

3. ఒందు వసు*Pన 4ౕಲె QHౕL (ఆక�Sక) 

మతు* క$4ౕణ ఒత*డ ಹాUದాగ ఎరడు 

ఒత*డద నడుವె ఇరువ వ�ತా�సವెౕను  

 (1) శೂన�ಕె? సಮాన 

 (2) అధ/ పటు�  

 (3) ఎరడు పటు�  

 (4) ఆరు పటు�  

 

4. ಕా�ం��వL %ౕZ నుC అదర ముక* తు= 

య�  ಲెూౕ[ ಮాHದాగ, గ�ష] సంಕెూౕచన 

ఒత*డ అ^వృ= ̀ಯావ ಭాగద� రుత*ದె  

 (1) %ౕ�న ಕెళ ಭాగద�  

 (2) %ౕ�న 4ౕ�న ಭాగద�  

 (3) 4ౕ�న మతు* ಕెళ ಭాగద�  

 (4) %ౕ�న మధ� ಭాగద�  
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1. The presence of excess alumina in 

the clay is reflected in the bricks 

as  

 (1) Makes the bricks brittle and 

weak 

 (2) Makes the bricks crack warp 

on drying 

 (3) Changes the colour of the 

brick from red to yellow 

 (4) Improves impermeability and 

durability of the brick 

 

2. The instrument attached to the 

wheel of a vehicle in order to 

measure the distance travelled, is 

called as  

 (1) Passometer  

 (2) Pedometer 

 (3) Odometer 

 (4) Speedometer 

3. The value of the stress induced in 

a body, when it is suddenly 

loaded, is ________ times the 

stress induced when the same load 

is applied gradually.  

 (1) Equal to zero  

 (2) One half 

 (3) Twice 

 (4) Six times 

 

4. When the cantilever beam is 

loaded at its free end, the 

maximum compressive stress shall 

develop at  

 (1) Bottom beam  

 (2) Top beam 

 (3) Top and bottom beam 

 (4) Middle beam 
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5. ಕెళಗె ಕెూ��రువ ಯావ అರెఘన వసు* ತెౕవ 

dರెూౕధకತెಗా3 అಭెౕద� పదరవనుC 

రూeసుత*ದె. 

 (1) ಮా���f అಸాgh� 

 (2) %టు4i 

 (3) అలు�నh  

 (4) %టు�నj ಫెh�  

 

6. సముద$ dౕ�న స�ౕపద ಕాంU$ౕl 

కట�డవనుC d�/సలు ఆm? ಮాడಬెౕಕాద 

�4ంl ಯావುదు 

 (1) ಹై అలు��ನా �4ంl  

 (2) oౕఘ$ವా3 గ��ಯాగువ �4ంl  

 (3) కH4 ಶాఖద �4ంl  

 (4) సಲెgౕl dರెూౕధక �4ంl  

7. ఒందు ಕెౕంದా$పಗా� పంr ద$వవనుC 

ಹెూరಹాకలు ಪా$రం^సువುదు, ప$ಚెూౕదక 

ఒత*డ ఏ�ಕె ఇదಕె? సಮానವా3ದాvగ ಮాత$ 

 (1) ಕైನె�f ಹె[  

 (2) ವెಲా�� ಹె[ 

 (3) ಸా��f ಹె[  

 (4) wನెూ4�$f ಹె[  

 

8. గರెxl న ರెౕಖాzత$ dౕడువ ಚాನెh 

Pನా�స zತా$తSక Pಧానవು ಯావ 

�ದా̀ంత ఆಧారವా3రుత*ದె  

 (1) ಕెనH �ದా̀ంత 

 (2) ಲాಚెౕ|J �ದా̀ంత 

 (3) 3}J �ದా̀ంత 

 (4) ಖెూಸ  ాj �ದా̀ంత 
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5. A semi rigid material which forms 

an excellent impervious layer for 

damp proofing is termed as  

 (1) Mastic Asphalt  

 (2) Bitumen 

 (3) Aluminal 

 (4) Bituminous felt 

 

6. The cement chosen to build a 

concrete structure in the vicinity 

of sea water is   

 (1) High alumina cement  

 (2) Rapid hardening cement 

 (3) Low heat cement 

 (4) Sulphate resisting cement 

7. A centrifugal pump will start 

delivering liquid only when the 

pressure rise in the impeller is 

equal to the  

 (1) Kinetic head  

 (2) Velocity head 

 (3) Static head 

 (4) Monometric head 

 

8. Garret’s diagram gives the 

graphical method of designing a 

channel based  on   

 (1) Kennedy’s theory  

 (2) Lacey’s theory 

 (3) Gibbs theory 

 (4) Khosla’s theory 
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9. ನైస3/కವా3 ಹెచు
వ హగురವాద ఉష� 

ಗాA, తంపು మతు* ಸాంద$ ವాತావరణవనుC 

సం=� మಳెಯాగువ Pಧాన (ಪె$�eಟెౕషi) 

వనుC ఏನెందు కರెయుತ *ాರె  

 (1) చండಮారుత మಳ  ె(ಪె$�eಟెౕషi) 

 (2) కನె�U�� మಳ  ె(ಪె$�eಟెౕషi) 

 (3) ఓರెూౕಗా$�f మಳ  ె(ಪె$�eಟెౕషi) 

 (4) ఇవುగళ�  ಯావುదూ అల  

 

10. ಭార�ౕయ గుణమట�ద ప$ಕార, గృహಕాయ/ 

ఉದెvౕశಕా?3 తಲా dౕ�న బళಕె =నಕె?  

 (1) 85 �ౕటL గళು 

 (2) 135 �ౕటL గళು 

 (3) 175 �ౕటL గళು 

 (4) 273 �ౕటL గళು 

11. ప�కవనుC ಕెూಯాగుಲెంl (గరಣెಕా�) ఆ3 

dౕ�ಗె ಬెರె�ದాగ ఏನాగుత*ದె  

 (1) dౕ�న pH ಮౌల�వು కH4ಯాగుత*ದె 

 (2) dౕ�న pH ಮౌల�వು ಹెಚా
గుత*ದె 

 (3) dౕ�న pH ಮౌల�ద 4ౕಲె ప$ಭావ 

%ౕరువು=ల  

 (4) ఇవುగళ�  ಯావುదూ అల  

 

12. ఇంHయi ರెూౕ[ ಕాంಗె$j (IRC) 

ಕాಯా/లయ ఎ� ದె 

 (1) ಕెూౕల?ತ *ా 

 (2) ಬెంగళೂరు 

 (3) ముంಬై 

 (4) నవ ದెహ� 
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9. The precipitation caused by 

natural rising of warmer lighter air 

in colder and denser surrounding 

is called  

 (1) Cyclonic precipitation  

 (2) Convective precipitation 

 (3) Orographic precipitation 

 (4) None of these 

 

10. As per Indian standards the water 

consumption per capita per day 

for domestic purpose is  

 (1) 85 Liters  

 (2) 135 Liters 

 (3) 175 Liters 

 (4) 273 Liters 

11. What will happen when the    

alum is mixed with water as a 

coagulant ? 

 (1) Decrease pH value of water  

 (2) Increase pH value of water   

 (3) Does not effect pH value of 

water 

 (4) None of these 

 

12. The headquarter of Indian Road 

Congress (IRC) is located at  

 (1) Kolkata  

 (2) Bangalore 

 (3) Mumbai 

 (4) New Delhi 
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13. ಕెళ3న ಯావ PಧానవనుC ಪాదಚా� 

పథద ನెలగ��ಗె ಹెూం=ಕెూళು�వ 

Pನా�సవనుC IRC సూzసుత*ವె 

 (1) �.%.ఆL. ప�ౕ�ె 

 (2) గుంపು సూచ�ంక ప�ౕ�ె 

 (3) ವెస�L ಗా[/ ప�ౕ�ె 

 (4) నుగు�వ ప�ౕ�ె 

 

14. ಕాంU$ౕl రಸె*య మధ�ರెౕಖెಗె 

సಮాನాంతరವా3రువ ಜెూౕడಣెయనుC 

ఏನెందు కರెయಲాగుత*ದె  

 (1) అనులంబ ಜెూౕడಣె 

 (2) ಟా$iJ వj/ (అడ�డ�) ಜెూౕడಣె 

 (3) Pస*రಣె ಜెూౕడಣె 

 (4) ఇవುగళ�  ఎల వೂ 

15. ఏక సరAన బలవQ/త %ౕZ గళ�  

ఉU?న ముఖ� సరAన బలవధ/ನెయనుC 

ఎ�  ఒద3సಲాగుత*ದె ? 

 (1) ಸెಡెతద వలయ 

 (2) సంಕెూౕచన వలయ 

 (3) తటస� వలయ 

 (4) ��చు వలయ 

 

16. d�?�ౕయ ಲెూౕ[ గళು మతు* 4ౕలుಪెౕ��ద 

ಲెూౕ[ గళనుC ಹెూరబల  సంeౕడక సదస�ద 

గ�ష] ಸె ండನె/j అనుಪాత ఎషు� ? 

 (1) 145 

 (2) 180 

 (3) 210 

 (4) 250 
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13. Which of the following method is 

recommended by IRC for design 

of flexible pavement ?  

 (1) CBR test  

 (2) Group index test 

 (3) Westergaard test 

 (4) Penetration test 

 

14. The joint, parallel to center line of 

the concrete road, are called  

 (1) Longitudinal joint  

 (2) Transverse joint 

 (3) Expansion joint 

 (4) All of these 

15. In singly reinforced beams, steel 

Main reinforcement is provided in  

 (1) Tensile zone  

 (2) Compression zone 

 (3) Neutral zone 

 (4) Shear zone  

 

16. The maximum slenderness ratio of 

a compression member which 

carry loads resulting from dead 

loads and superimposed loads  

 (1) 145 

 (2) 180 

 (3) 210 

 (4) 250 



126  (10 - A) 

17. సంeౕడన అంగಕా?3 ಲెౕ�ం� ಬాL న 

కృశత� ప$ಮాణవು ಯావುదనుC �ౕరಬారదు 

 (1) 130 

 (2) 135 

 (3) 145 

 (4) 150 

 

18. హుfJ dయమవು ఒత*డ మతు* తుయ*ಕె?  

సంబంQ�దంತె ఎ� యవರెಗె అన��సుత*ದె 

 (1) ���ಸ �ాపక �� 

 (2) ఇళುవ� %ందు 

 (3) ಪ  ా��f ��  

 (4) ಬె$ౕUం� %ందు 

 

19. ಬెంHం� స�ౕకరణద అ^వ�U*యు 

 (1) 
R

E
=

y

f
=

I

M

 

 (2) 
R

E
=

f

y
=

I

M
 

 (3) 
E

R
=

y

f
=

I

M

 

 (4) 
y

R
=

E

f
=

I

M

 

20. ಪాశ�/ తుయ* మతు* ರెౕ�ౕయ తుయ*గA3రువ 

అనుಪాతవనుC �ౕಗెనుCತ *ాರె.  

 (1) ���ಸ �ాపకత�ద ಮాడు�లj  

 (2) ಪెడ�న ಮాడు�లj / ಮాడు�లj 

ఆ� ��H� 

 (3) ರాo (సగటు) ಮాడు�లj / బh? 

ಮాడు�లj 

 (4) ಪా�సiJ ರెౕషు� (అనుಪాత) 

 

21. ಗా�$ౕయ �రుచ (ವాలు�4�$f ಸె��ౕi) 

నుC �ౕಗె ವా�ಖా�dసబహుదు. 

 (1) 
V

Uδ

 

 (2) 
Vδ

U
 

 (3) 
Vδ

m

 

 (4) 
m

Vδ
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17. The slenderness ratio of the lacing 

bar for compression member 

should not exceed  

 (1) 130 

 (2) 135 

 (3) 145 

 (4) 150 

 

18. Hooke’s law refer to stress and 

strain in the body holds true upto  

 (1) Elastic limit  

 (2) Yield point 

 (3) Plastic limit 

 (4) Breaking point 

 

19. Expression for bending equation 

is ______  

 (1) 
R

E
=

y

f
=

I

M

 

 (2) 
R

E
=

f

y
=

I

M
 

 (3) 
E

R
=

y

f
=

I

M

 

 (4) 
y

R
=

E

f
=

I

M
 

20. Ratio of lateral strain to linear 

strain is called ______  

 (1) Modulus of elasticity  

 (2) Modulus of rigidity 

 (3) Bulk modulus 

 (4) Poisson’s ratio 

 

21. Volumetric strain is defined as 

_____.  

 (1) 
V

Uδ

 

 (2) 
Vδ

U
 

 (3) 
Vδ

m

 

 (4) 
m

Vδ
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22. ಕాంU$ౕ�న ముఖ� ఘటకగಳెందರె �4ంl 

నుణుపು మరళು మతు* _____ 

 (1) మణు� 

 (2) ఒరటు దపO కలు గళು 

 (3) ಹెూండ ధూళು 

  (4) కలు గ� ధూళು 

 

23. యూdl ఉదvಕె? ఆగువ ಗాత$ బదಲావಣె  

ఎందರె 

 (1) ఒత*డ 

 (2) ���ಸ �ాపకత�ద ಮాడు�లj 

 (3) తుయ* 

 (4) ఇవುగళ�  ಯావುదూ అల  

24. ఉU?న ಪా�సiJ ప$ಮాణవು ఇవುగళ 

నడుವె 

 (1) 0.20 �ంద 0.25 

 (2) 0.25 �ంద 0.33 

 (3) 0.35 �ంద 0.40 

 (4) 0.45 �ంద 0.50 

 

25. ಬా3ಕె %గువು ఇరువ అ�ద తటస� అ�వು 

ఇషు� ఇరుత*ದె 

 (1) కdష� 

 (2) ಸెూನెC 

 (3) గ�ష� 

 (4) అనంత 

 

26. ಷా�� dంద వಗా/వಣె ఆగువ ಸామథ�/ద 

అ^వ�U*యు _____ Uಲెూౕವా�lJ గళ� . 

 (1) 
60

NTπ2
  

 (2) 
NTπ2

60
 

 (3) 
60

NTπ3
  

 (4) 
NTπ3

60
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22. Main ingredients of concrete are 

cement, fine aggregate and 

_______   

 (1) Soil  

 (2) Coarse aggregate 

 (3) Pond ash 

 (4) Quarry dust 

 

23. The term deformation per unit 

length is referred for ______  

 (1) Stress  

 (2) Modulus of elasticity 

 (3) Strain 

 (4) None of these 

24. Poisson’s ratio for steel lies 

between _______  

 (1) 0.20 to 0.25  

 (2) 0.25 to 0.33 

 (3) 0.35 to 0.40 

 (4) 0.45 to 0.50 

 

25. The neutral axis of a section is an 

axis at which bending stress is 

______  

 (1) minimum 

 (2) zero 

 (3) maximum 

 (4) infinity 

 

26. Power transmitted by a shaft is 

given by expression _______ in 

kilowatts  

 (1) 
60

NTπ2

 

 (2) 
NTπ2

60
 

 (3) 
60

NTπ3

 

 (4) 
NTπ3

60
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27. dౕ�న �ౕరుPಕెయు (wదలನెౕ దಜె/)  

ఇ��ಗెಗా3 ఇదU?ంత ಜా�* ఇరಬారదు 

 (1) 12% 

 (2) 15% 

 (3) 20% 

 (4) 25% 

 

28. ఈ ಕెళ3నవುగళ�  భూ�య� న ಯావ 

ఘటకవು ఇ��ಗెగళ స�ಯాద ఆಕారಕె? 

ಪ  ా��కತెయనుC dౕడుత*ದె 

 (1) ��ಕా 

 (2) సుణ� 

 (3) అలు��న 

 (4) 43Cౕ�య 

 

29. ఇ��ಗెగళనుC సుడువ ఉష�ತా ವా�e*యు 

_____. 

 (1) 500 - 700° C  

 (2) 700 - 900° C 

 (3) 900 - 1200° C 

 (4) 1200 - 1500° C 

30. ఇవುగళ�  గడుಸాద ಲెూౕహ ಯావುదు ? 

 (1) ಕా�l�/  

 (2) ಫెhJ పL   

 (3) ಗాನె/l  

 (4) ఆం�ಬెూౕh  

 

31. ಸాಮాన� �ౕl/ ಲా�ం[ �4ంl న 

4ౕಲె� ప$ದెౕశవು ఇదU?ంత కH4 

ఇరಬారదు 

 (1) 2250 

 (2) 3000 

 (3) 3250 

 (4) 4000 

 

32. �4ంl న దృఢತెయ ప�ౕ�ెಗె ఇదనుC 

ఉప�ౕ3సుತ *ాರె 

 (1) ట%/H� (ప$�ుబ)̀ �ౕటL  

 (2) �ౕ ಚా�ట�యj/ ఉపకరణ 

 (3) Pಕా�lJ ఉపకరణ 

 (4) %$ಕె�l (ಪాళ)  
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27. Water absorption for Ist class 

bricks should not be more than 

______   

 (1) 12% 

 (2) 15% 

 (3) 20% 

 (4) 25% 

 

28. Which of the following 

constituent in earth gives 

plasticity to mould bricks in 

suitable shape ?  

 (1) Silica 

 (2) Lime 

 (3) Alumina 

 (4) Magnesia 

 

29. Bricks are burnt at a temperature 

range of _______  

 (1) 500 - 700° C  

 (2) 700 - 900° C 

 (3) 900 - 1200° C 

 (4) 1200 - 1500° C 

30. Which of the following is hardest 

mineral ?   

 (1) Quartz 

 (2) Felspar 

 (3) Garnet 

 (4) Amphibole 

 

31. Ordinary portland cement should 

have surface area not less than 

_______  

 (1) 2250 

 (2) 3000 

 (3) 3250 

 (4) 4000 

 

32. Soundness of cement is tested 

using ________   

 (1) Turbidity meter  

 (2) Le Chatelier’s apparatus 

 (3) Vicat’s apparatus 

 (4) Briquette 
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33. మరAన అ� ఉబు�Pಕె (ದెూడ� ఆಕార) ఈ 

ఆద$/ತెయ అంశ=ంద ఆగుత*ದె 

 (1) 5% 

 (2) 8% 

 (3) 11% 

 (4) 14% 

 

34. క%�ణద కಚ  ా రూప ఇదు 

 (1) మృదు ఉకు?/4ౖh� ��ౕh  

 (2) %ౕడు క%�ణ/e� ఐరi  

 (3) 4ౕదు క%�ణ/ರాl (Wrought) ఐరi  

 (4) ఎరకద క%�ణ/ಕా�j� ఐరi  

 

35. మృదు ఉU?న�  క%�ణద ప$ಮాణ ఇషు� 

ఇరుత*ದె 

 (1) 50% 

 (2) 80% 

 (3) 90% 

 (4) 99% 

36. ఈ ಕెళ3న ಯావ అ=�dంద సతువనుC 

ತెಗెయుತ *ాರె 

 (1) గಲెౕನా 

 (2) ಬ  ాf ಜాf  

 (3) ಕెూౕరండZ  

 (4) ಮాలಚైl  

 

37. ఈ ಕెళ3నవುగళ�  ಯావುదు అ� ಸాంద$ 

మతు* హగురವాద ಲెూౕహ 

 (1) అలు��dయZ  

 (2) ತామ$ 

 (3) �ౕస 

 (4) తవర 

 

38. బణ�గళ�  శుష?ಕా�య ప$ಮాణ ఇష�ಕె? 

��ಗెూA�ದె 

 (1) 2% 

 (2) 4% 

 (3) 6% 

 (4) 8% 
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33. The maximum bulking of sand is 

likely to occur at moisture content 

of ______.  

 (1) 5% 

 (2) 8% 

 (3) 11% 

 (4) 14% 

 

34. The crudest form of iron is 

______.  

 (1) Mild steel  

 (2) Pig Iron 

 (3) Wrought Iron 

 (4) Cast Iron 

 

35. In mild steel the iron content is 

about _______.  

 (1) 50% 

 (2) 80% 

 (3) 90% 

 (4) 99% 

36. From which of the following ore 

zinc is extracted ? 

 (1) Galena 

 (2) Black jack 

 (3) Corundum 

 (4) Malachite 

 

37. Which of the following is densest 

and lightest metal ?  

 (1) Aluminium 

 (2) Copper 

 (3) Lead 

 (4) Tin 

 

38. The quantity of drier in paints is 

limited to ______  

 (1) 2% 

 (2) 4% 

 (3) 6% 

 (4) 8% 
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39. అ3C dರెూౕధ బణ�గళ� న ముఖ� ఘటక 

 (1) అలు��dయZ ಪౌడL  

 (2) ಕెంపು �ౕస (ರె[ ಲె[) 

 (3) ತామ$ద పುH/ಕాపL ಪౌడL  

 (4) ఆಸె�ಸెూ�ౕj ಫైబj/ 

 

40. Hಸైరబh ಕాంU$ౕl _____ ఇದ vాగ 

ಪా�మL ಕాంU$ౕl నుC d=/ష�ವా3 

ఉప�ౕ3సుತ *ాರె. 

 (1) హగుర తూక/ಲైl ವెౕl  

 (2) అ� ಭార/ಹెP ವెౕl  

 (3) అಪారక/ఇంప�/యబh  

 (4) అ� ಹెz
న ఉష�ద�  బళಕె 

 

41. ಗాత$=ంద ఒందు కు�.�ౕ. 1:2:4 ప$ಮాణద 

ಕాంU$ౕl న�  దపOకలు గళ ప$ಮాణ ఇషు� 

ఇరుత*ದె 

 (1) 0.94 m3 

 (2) 0.85 m3 

 (3) 0.75 m3 

 (4) 0.65 m3 

42. ఒಳ �ెయ d�/� క� న ఒಡెయువ శU* 

(క$oం� ಸె�ం¢) ఇదU?ంత ಜా�* ఇరಬెౕకు 

 (1) 50 ఎం.e.ఎ. 

 (2) 100 ఎం.e.ఎ. 

 (3) 150 ఎం.e.ఎ. 

 (4) 200 ఎం.e.ఎ. 

 

43. ఎಲ  ా �ౕj/ గళು ఒంದెౕ ಜాగద�  

ಸెౕరువುదు మతు* ఒంದెౕ సమత��న�  

(ಪె ౕi) ఇరువುదಕె? �ౕಗెనుCತ *ాರె 

 (1) సహవ�//కi కರెంl  

 (2) సహవ�/యల ద/ನాi-కన?ರెంl  

 (3) సహతలద/ಕెూౕಪె ౕనL  

 (4) సహతలదvల ద/ನాi-ಕెూౕಪె ౕನాL  
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39. In fire proof paints main 

constituent is ______  

 (1) Aluminium powder  

 (2) Red lead 

 (3) Copper powder 

 (4) Asbestos fibres 

 

40. Polymer concrete is used 

specifically when desirable 

concrete is to be ______.   

 (1) Light weight  

 (2) Heavy weight 

 (3) Impermeable 

 (4) Used under high temperature 

 

41. To make 1 cu.m of 1 : 2 : 4 

concrete by volume, the coarse 

aggregate volume required is 

_______  

 (1) 0.94 m3 

 (2) 0.85 m3 

 (3) 0.75 m3 

 (4) 0.65 m3 

42. Crushing strength of a good 

building stone should be more 

than _______  

 (1) 50 MPa 

 (2) 100 Mpa 

 (3) 150 MPa 

 (4) 200 MPa 

 

43. All forces meeting at a point and 

lying in the same plane are 

______  

 (1) Concurrent  

 (2) Non-concurrent 

 (3) Coplanar 

 (4) Non-coplanar 
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44. ఈ ಫా�క�L 4ౕಲె ಕాంU$ౕ�న శU* 

అవలం%తವా3ದె ? 

 (1) dౕరు �4ంl అనుಪాత 

 (2) �4ంl న గ��తన  

 (3) �4ం�న నుణుపುతన 

 (4) ಕాಯా/తSకತె 

 

45. 5100 ಹెಕె�ౕL న� న ಬెಳెಗె 3 cumecs dౕరు 

ಬెౕಕాదರె ఇ�$ಗెౕశi న ವాటL డూ�� 

(U$ಯా ಸామథ�/) ఎషు� ? 

 (1) 15300 

 (2) 5100 

 (3) 1700 

 (4) 3 

46. ಸాಮాన�ವా3 మ��న�  ಯావ వ3ౕ/కరణ 

oౕ�/ಕెయ�  dౕరు ಕాణ�గుత*ದె ? 

 (1) ಹైಡెూ$ౕಸెూ?ౕef dౕరు 

 (2) 4ౕಲె�/సಫెౕ/j dౕరు 

 (3) ಲెూౕమ/ಕెeల � dౕరు 

 (4) ಕెౕంದా$పಗా�/ಸెం�$£�గh dౕరు 

 

47. ఇవುగళ�  ಯావುదు కు�యబహుದాద 

మ��ಗె (ಕెూಲ  ాeJబhJ ಸా�h) ఉದాహరಣె 

 (1) కపುO హ�*  

 (2) జ�   

 (3) 4క?లు   

 (4) కలు పುO  
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44. Which is the factor on which 

strength of concrete depends ?  

 (1) Water cement ratio  

 (2) Hardness of cement 

 (3) Fineness of cement 

 (4) Workability 

 

45. What shall be the duty of 

irrigation water if 3 cumecs of 

water supply is required for a crop 

sown in area of 5100 hectares ?  

 (1) 15300 

 (2) 5100 

 (3) 1700 

 (4) 3 

46. What classification head for water 

present in soil is normally found ?  

 (1) Hydroscopic water  

 (2) Surface water 

 (3) Capillary water 

 (4) Centrifugal water 

 

47. Which of the following is an 

example of collapsible soils ?  

 (1) Black cotton 

 (2) Gravel 

 (3) Loess 

 (4) Halite 
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48. �4ంl న� రువ ఈ �శ$ణ, ఇదర శU*ಗె 

ఎరడు-మూరు వష/ద నంతర 

ಕారణವాగుత*ದె 

 (1) ಟె¥ ಕా��Jయం ��ಕెౕl  

 (2) ಡై ಕా��Jయం ��ಕెౕl 

 (3) ಟె¥ ಕా��Jయం అలు��ನెౕl  

 (4) ಟెಟా$ ಕా��Jయం ಫెರైl  

 

49. %Aయ �ౕసవనుC (ವైl ಲె[ ಬెౕj) 

ఆధ��ద బణ�గళು ఈ బణ� బAయువ 

ಕెలసಕె? సూక* 

 (1) మరಗెలసಕె? 

 (2) క%�ణద ಕెలస 

 (3) మర మతు* క%�ణద ಕెలసగಳెరడూ 

 (4) ఇవುగళ�  ಯావುదూ అల  

50. �4ంl ಹైಡె$ౕషi న ప$ముఖ ఉతOనC-

ద�  ఉంಟాగువ బలಕె? ಕారణವా3రువ 

వసు* 

 (1) ಕా��Jయం ಹైಡా$ಕెJౖ[ 

 (2) �పJం 

 (3) ಕా��Jయం ಕెూ ౕರై[ 

 (4) �.ఎj. ಹె¦.  

 

51. అధ/i ವెౕL (మ��న పದాథ/) dంద 

ಮాHరువ ఆకృ�యనుC ಸాಮాన�ವా3 

_____ ఎందు కರెయబహుదు. 

 (1) ಟెರా$ಕెూಟా 

 (2) సుట� మరళು 

 (3) అ3$ಗెౕl  

 (4) పಳెయుAಕె 
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48. The compound of cement which 

contributes to strength after two to 

three years _______ 

 (1) Tri Calcium silicate  

 (2) Di Calcium silicate 

 (3) Tri Calcium aluminate 

 (4) Tetra Calcium ferrite  

 

49. Paints with white lead base are 

suitable for painting of ______  

 (1) wood work  

 (2) iron work 

 (3) both wood and iron work 

 (4) None of these  

50. Salient product of hydration in 

cement responsible for strength is 

_______  

 (1) Calcium hydroxide  

 (2) Gypsum 

 (3) Calcium chloride 

 (4) CSH 

 

51. The usual name given to sculpture 

made by earthen ware using baked 

earth is  

 (1) Terracotta 

 (2) burnt sand 

 (3) aggregate  

 (4) fossil 
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52. అంటు-అంటు ఆ3రువ, కಪాOద మతు* 

అ�ಯాద �Cగ` ద$వ అథವా అధ/ ఘన 

పದాథ/ವా3రువ ಪెಟెూ$ౕ�యం 

ఉతOనCవనుC _____ ఎందు కರెయుತ *ాರె. 

 (1) 4టh ಪెౕj�  

 (2) 4రుಗెಣె� / ವాd/§  

 (3) Hಸె�ంపL  

 (4) ಡాంబరు / అಸాgh�  

 

53. ఒందు ¨�ౕಡెూౕಲైl ಗె (wౕజ� 

ಕెూౕనಮాపకಕె?) ಸె�ౕHయ డయఫ$ం (�ರె 

ఫలక) మతు* అనల�f (Pಶె ౕషక) మసూర 

అళవH�దರె అదనుC _____ ఆ3 

బళసబహుదు. 

 (1) ఒಟా�ರె ಸ �ా� / ಟెూౕటh ಸె�ౕషi  

 (2) ఇ.H.ఎం. 

 (3) ఎಲెಕా�df ¨�ౕಡెూౕಲైl  

 (4) ಟా�ಚెూౕ �ౕటL  

54. ఒందు సరళ వతు/ల �రుPన�  (�ంపh 

సకూ�/లL క�/), R �$జ�,  T సOశ/కద  

ఉదv మతు* θ ಬా3ద (Hಫె �i) ಕెూౕన 

ఆదರె, T = _____. 

 (1) R tan(θ/2) 

 (2) 2Rtanθ 

 (3) Rtan2θ 

 (4) R2tanθ 

 

55. ఒందు ఉU?న ಬాL 4m ఉదv, 30 mm 

అగల, 20 mm దపO ఇದ vాగ అదಕె? 30 kN 

ఆUJయh పುh/ಲెూౕ[ నుC అదర ఉదvద 

=U?న�  ಹాUದాగ అదర ಬాL వసు*Pన 

ಮాడూ�లj ��� ಸ �ాపకತెయు 

 E = 2 × 105 N/mm2 , ಪాయసiJ 

అనుಪాత = 0.3 ಪాశ�/ �రుచు _____. 

 (1) 0.000432 

 (2) 0.000162 

 (3) 0 

 (4) 0.000075 
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52. A sticky, black and highly viscous 

liquid or semi-solid form of 

petroleum is termed as _______  

 (1) metal paste 

 (2) varnish 

 (3) distemper 

 (4) asphalt 

 

53. If a theodolite is fitted with stadia 

diaphragm and analactic lens, it 

can be used as _______  

 (1) Total station  

 (2) EDM 

 (3) Electronic theodolite 

 (4) Tacheometer 

54. In a simple circular curve, if R is 

the radius, T is the tangent length 

and θ is the deflection angle, then 

T = _______.  

 (1) R tan(θ/2) 

 (2) 2Rtanθ 

 (3) Rtan2θ 

 (4) R2tanθ 

 

55. A steel bar is 4 m long, 30 mm 

wide, 20 mm thick is subjected         

to an axial pull of 30 kN in        

the direction of its length.           

Given modulus of elasticity         

of the material of the bar as           

2 × 105 N/mm2, Poisson’s ratio is 

0.3. The lateral strain is _______.  

 (1) 0.000432 

 (2) 0.000162 

 (3) 0 

 (4) 0.000075 
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56. 40 mm ವా�స ఇరువ క%�ణద సಲాಕెయ� ,  

5 m ఉదv 47.476 N/mm2 ಸె�ౕj ఇరుత*ದె. 

అదಕె? ಗా$జుయh wౕ[ ಕెూಟా�గ ఆ 

సరAdంద �ౕ�ಕెూళ�ಲాద �రుచు శU*యు 

ఇదಕె? సమ _____. N-m ಕెూ��రువ 

సరAన వసు*Pన ಮాడూ�లj 

���ಸ �ాపకత�వು 2 × 105 N/mm2  

 (1) 35.81 

 (2) 19.76 

 (3) 12.9 

 (4) 55.43 

 

57. తుంಬా సణ� పೂణ/ವా3ల ద ఒరటు 

�ౕl/ ಲా�ం[ �4ంl ಪ  ాస�L నుC కలు  

ಗెూౕಡె 4ౕಲె బAದాగ అదనుC 

ಸాಮాన�ವా3 _____ ఎందు 

కರెయబహుదు. 

 (1) ಪా�/ం�  

 (2) బణ� బAయుPಕె/Hಸె�ంప�ం�  

 (3) ಪైం�ం� (బణ� బAయుPಕె) 

 (4) ಡె$�Jం�  

58. _____ ª�ం� (ఆಧార) న�  కంబ మతు* 

ಗెూౕಡెగళು ఒందు ದెూడ� దపO బలవQ/ద 

ಕాంU$ౕl ಸ  ా} (ఫలకద) 4ౕಲె 

కూ�రుత*ವె. 

 (1) ಪైh  

 (2) ತెರెద 

 (3) 3$ಲెౕ« 

 (4) ಮా�l  

 

59. ಭారతద�  RCC ಕాంU$ౕl �fJ Hಸైi 

ಮాడువುదಕె? IS _____ ಕెూౕ[ నుC 

ఉప�ౕ3సుತ *ాರె. 

 (1) 10262 

 (2) 456 

 (3) 373 

 (4) 800 
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56. A rod of 40 mm diameter, 5 m 

long is stressed with 47.476 

N/mm2 is subjected to a gradual 

tensile load. Strain energy 

absorbed by the rod is equal to 

_______ N-m. Given modulus of 

elasticity of the material of the bar 

as  

2 × 105 N/mm2.  

 (1) 35.81 

 (2) 19.76 

 (3) 12.9 

 (4) 55.43 

 

57. A thin, rough (unfinished) coat of 

portland cement plaster on a 

masonry wall is generally called 

as _______  

 (1) Parging 

 (2) Distempering 

 (3) Painting 

 (4) Dressing 

58. In case of _______ footing, 

columns and walls of a building 

bear on one  large, thick 

reinforced concrete slab.  

 (1) pile 

 (2) open 

 (3) grillage 

 (4) mat 

 

59. In India, concrete mix design for 

RCC is carried out using IS 

_______ code.  

 (1) 10262 

 (2) 456 

 (3) 373 

 (4) 800 
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60. ఆయತాಕారద మతు* వృತ *ాಕారద 

కంబగళ�  కdష� సరళುగళ సంಖె� 

క$మವా3 ____ & ____. 

 (1) 6 & 6 

 (2) 4 & 4  

 (3) 4 & 6 

 (4) 6 & 4 

 

61. కు=యువ %ందుP3ంత ಕెళಗె, ಶాఖద 

వಗా/వಣె�ంద, ఉంಟాద U$mయ�  ద$వవು 

4ౕಲె�య�  అdల ���ಗె బదಲాగువ 

ప$U$mయనుC  _____ ఎనుCತ *ాರె. 

 (1) కు=యుPಕె / ಬా� ం�  

 (2) ಭా�Oౕకరణ / ఎವాపರెౕషi 

 (3) రi ఆ�  

 (4) చరంH / ಡె¥ನెౕ«  

62. ఒందు జಲాశయద dౕ�న సంగ$హ 400 

��యi కు�%f �ౕటL. ఇదు 40000 

ಹెಕె�ౕL ప$ದెౕశಕె? 1 వష/ಕె? 2 �� ం� న�  

dౕರావ� ಕెూడుత*ದె. ಕా$r �ౕజi 125 

=నగಳాదರె డూ��యు _____ ಹె/m3.  

 (1) 440 

 (2) 540 

 (3) 940 

 (4) 1040 

 

63. [OH--] అಯానుగళ ಸాంద$ತె 0.008 

ఇరుವాగ, ఆ dౕ�న ದా$వణద pH = 

_____. 

 (1) 5.4 

 (2) 7.1 

 (3) 9.0 

 (4) 11.9 
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60. The minimum number of bars to 

be provided in case of rectangle 

and circular columns are ______ 

respectively.  

 (1) 6 and 6 

 (2) 4 and 4 

 (3) 4 and 6 

 (4) 6 and 4 

 

61. The process in which liquid 

changes to gaseous state at the 

surface, below the boiling point 

due to the transfer of heat is 

known as ________  

 (1) Boiling 

 (2) Evaporation  

 (3) Run off 

 (4) Drainage 

62. A reservoir with live storage of 

400 million cubic meters of water 

is available to irrigate an area of 

40,000 hectares with 2 fillings in a 

year. If the crop season is 125 

days. The duty is _______ 

hectares/cubic meter.  

 (1) 440 

 (2) 540 

 (3) 940 

 (4) 1040 

 

63. pH of water solution having 

concentration of [OH--] ions of 

0.008 is ______.  

 (1) 5.4 

 (2) 7.1 

 (3) 9.0 

 (4) 11.9 
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64. dౕరనుC ಗా$ను�ಲాL మ�ౕ�యh (మరళು) 

న�  హ�సువ PಧానవనుC _____ ఎందు 

కರెయబహుదు. 

 (1) ಸెH4ంಟెౕషi  

 (2) �ಲె�ౕషi  

 (3) �?�ౕdం�  

 (4) Hj ఇi ಫె�i  

 

65. టూಲైi రಸె*య�  ఒందు ವాహన 50 

Kmph ವెౕగద�  చ�సుವాగ ಸా�eం� 

ಸైl Hಸె�iJ _____ m. ಚాలకన 

ప$�U$mయ సమయ 2.3 sec. 

ಕెూౕఎ��mంl ఆ� ಲాం3టు�Hనh 

e$�i (ఘష/ಣె) 0.38.  

 (1) 57.87 

 (2) 35.65 

 (3) 48.32 

 (4) 12.43 

66. �ಲెl ವెh� న ಗాత$ 6 mm, ಹాಗాదರె 

ಥెూ$ౕl ¨కనj = _____ mm.   

 (1) 4.2 

 (2) 8.57 

 (3) 3.1 

 (4) 1 

 

67. ఒందు U.�ౕ. ఉదvద రಸె*య�  4ౕಲె�య  

కుముಲెౕ�� వ�/కh అండుಲెౕషi 

ದాఖಲా3రువುదనుC _____ ఎనుCತ *ాರె. 

 (1) �$ಫైh  

 (2) ಕా$j ಸె�i  

 (3) అi ఈవನెCj ఇంಡెfJ  

 (4) అಲైi 4ంl  



126 (31 - A) 

64. The process of passing the settled 

water through the beds of granular 

material is termed as _______.  

 (1) sedimentation  

 (2) filtration   

 (3) screening 

 (4) disinfection 

 

65. The stopping sight distance of a 

vehicle moving with a speed of  

50 kmph in a two lane road is 

_______ m if the reaction time of 

driver is 2.3 sec and coefficient of 

longitudinal friction is 0.38.    

 (1) 57.87 

 (2) 35.65 

 (3) 48.32 

 (4) 12.43 

66. If the size of the fillet weld is        

6 mm, then the throat thickness        

is = _____ mm.    

 (1) 4.2 

 (2) 8.57 

 (3) 3.1 

 (4) 1 

 

67. The cumulative vertical 

undulations of the surface 

recorded per km of the road is 

called as _________  

 (1) profile   

 (2) cross section 

 (3) unevenness index 

 (4) alignment 
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68. ಬా$ಕెl కನె�i Pನా�సద�  తుంಬా 

ముఖ�ವాద అంశ _____. 

 (1) ಲెూౕ[ ಮాత$ 

 (2) ಲెూౕ[ మతు* ఎಸెం�$�� 

 (3) ఎಸెం�$�� ಮాత$ 

 (4) ��ౕh న గుణ ಮాత$ 

 

69. ఒందు ISA 100 × 75 × 8 ಲాంగL ಲె� 

ಹెూం=రువ ಟై 4ంబL గಸెl ಪె ౕl ಗె 

ಜెూౕడಣె ಮాడಲా3ದె. ಗా$j ಕా$j 

ಸె�నh ఏ�ಯా కನెక�[  & అi కನెక�[ 

ಲె� గళదు క$మವా3 _____ & _____ 

mm2.  

 (1) 768 మతు* 568 

 (2) 344 మతు* 288 

 (3) 976 మతు* 654 

 (4) 1206 మతు* 743 

70. ��ౕh %ౕం న ప�/�బh Hಫె �i అదర 

ಸాOi = 4m & _____ mm. IS 800-2009 

ప$ಕార 

 (1) 16 

 (2) 20 

 (3) 23 

 (4) 29 

 

71. ತా$eಜా�ಕారద �ౕಟైdం� ಗెూౕಡెయ 

4ౕ�న అగల a, తళద అగల b, ఎత*ర h 

ఆదರె, అదర సమతలವా3రువ 

ಸెంಟా$య�h దూర వ�/కh ಫెౕj dంద 

_____. 

 (1) a + b2   

 (2) b + a2 

 (3) (a + b)/2 

 (4) 
)b+a(3

ab+b+a 22
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68. In the design of bracket 

connection, ________ is the 

salient factor in the design.   

 (1) Load alone  

 (2) Load and eccentricity 

 (3) Eccentricity only 

 (4) Property of steel only 

 

69. A tie member consists of ISA  

100 × 75 × 8 longer leg is 

connected to a gusset plate. The 

gross cross sectional area of 

connected and unconnected leg 

are _______ mm2 respectively.  

 (1) 768 and 568  

 (2) 344 and 288 

 (3) 976 and 654 

 (4) 1206 and 743 

70. Permissible deflection of a steel 

beam whose span is 4 m is 

_______ mm as per IS800-2009.   

 (1) 16 

 (2) 20  

 (3) 23 

 (4) 29 

 

71. A trapezoidal section of a 

retaining wall have top width a 

and bottom width b have height h. 

The horizontal centroidal distance 

of the section from the vertical 

face is ________.  

 (1) a + b2   

 (2) b + a2 

 (3) (a + b)/2 

 (4) 
)b+a(3

ab+b+a 22
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72. కట�డ కటు�వ ಸైl న�  ಸా�f ಲెవh న 

చలనవనుC ದాఖಲా�యనుC గుದా�న�  

ಕాಪాడువ PಧానవనుC _____ ఎనుCತె*ౕವె. 

 (1) ఇi ವా|J  

 (2) పಚెౕ/j ఆడ/L  

 (3) %i ಕా[/  

 (4) ಗెౕl ಪాj  

 

73. Hಸె�iJ �ౕటL ನెూం=ಗె ఎಲెಕా�df 

ಟా$dJl ¨�ౕಡెూౕಲైlJ న సంగమద 

ఇరువ దూరవనుC ಯావುದాదరూ ఒందు 

d=/ష� ಜాగ=ంద అಳెయువ ಸాధనవనుC 

_____ ఎనుCತ *ాರె.  

 (1) ఇHఎం 

 (2) ಟా�ಚెూౕ�ౕటL  

 (3) ಟెూౕటh ಸె�ౕషi  

 (4) ಬాರెూౕ�ౕటL  

74. ఎಲ  ా Pధద ಜాగಕె? సంబంQ�ద అథವా 

ಭౌಗెూౕAక అంU సంಖె�గళనుC ಕౌశల�=ంద 

ಸెರె�Hదు, సంగ$�� Pಶె ౕ��, dవ/�� 

ప$సు*తపHసబహుದాద PಧానవనుC _____ 

ఎనుCತ *ాರె. 

 (1) �eఎj  

 (2) �ఐఎj  

 (3) �%ఎj  

 (4) �ఎj ఎj  

 

75. ದెూడ� కట�డగళ dಮా/ణద�  అ� ఎత*రಕె? 

ಕాంU$ౕటనుC ಸా3సలు ఉప�ౕ3సువ 

Pಧాన _____. 

 (1) �?r అం[ ಹెూ|J® 

 (2) ట$f �కJL మతు* డంపL  

 (3) Pౕh ಬాರ¯ 

 (4) ಮా�ను�h ಕా���ం�  
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72. Which of the following is 

maintained at the store in 

construction site to record the 

movements of the stock level of 

all the items ?  

 (1) invoice  

 (2) purchase order 

 (3) bin card 

 (4) gate pass 

 

73. Electronic transit theodolites in 

conjunction with a distance meter 

to read any slope distance from 

the instrument to any particular 

spot can be a _______  

 (1) EDM  

 (2) Tachometer 

 (3) Total station 

 (4) Barometer 

74. A system designed to capture, 

store, manipulate, analyze, 

manage, and present all types of 

spatial or geographical data can be 

called as _____.  

 (1) GPS  

 (2) GIS 

 (3) GBS 

 (4) GSS 

 

75. Which of the following methods 

used in transporting fresh concrete 

in high rise structures ?  

 (1) skip and hoist  

 (2) truck mixer and dumper 

 (3) wheel barrow 

 (4) manual carrying 
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76. ఒందు %ౕం న ಬాగుPಕెయు ఒంದెౕ wత*ద 

ಬెంHం� w4ంl మతు* శೂన� �యL 

బల ఇరువುదనుC _____ ఎనుCತ *ాರె. 

 (1) �యL  

 (2) ಟాష/i  

 (3) w4ంl  

 (4) పೂ�L ಬెంHం�  

 

77. ఇవುగళ�  ಯావ ಹెౕAಕె స� 

 (1) ఒందు ಲెూౕహద ಪాయసiJ అనుಪాత 

1.2 

 (2) ಸె�i యూdl mm (�.�ౕ) 

 (3) ಪా$డf� ఆ� ಮాడులj ఆ� 

ఎಲె���� మతు* MI ಫె కు
రh ��H� 

 (4) సుర�ెಗె సంబంQ�దంತె ಫా�క�L ఆ� 

ಸెౕ�� ఒందU?ంత కH4 

78. ನైస3/క బంಡెగAంద PPధ ಸై�న 

కలు గళనుC ಹెూరತెಗెవ ప$U$mయ ಹెసరు 

 (1) ಡె$�ం�  

 (2) �ౕసdం� 

 (3) ಕా���ం�  

 (4) ఇవುగళ�  ಯావುవೂ అల  

 

79. ಕా�� ಮాHద క� ಗె ఖzత ಹాగూ dయత 

ఆಕార ಕెూడుPಕెయ ప$U$mయు 

 (1) ezం�  

 (2) ಡె$�ం�  

 (3) �ౕసdం�  

 (4) ಕా��ౕ�ం�  

 

80. ಗాರెయ దపOవೂ ಸెౕ�దంತె ಮాడు�లL 

%$f న oష� ಸైజు 

 (1) 23 × 12 × 8 cm3  

 (2) 19 × 20 × 19 cm3 

 (3) 20 × 20 × 10 cm3 

 (4) 18 × 9 × 9 cm3 
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76. Flexure of a beam under constant 

bending moment, with zero shear 

force is known as _____  

 (1) Shear  

 (2) torsion 

 (3) moment 

 (4) pure bending 

 

77. Which of the following statements 

is true ?  

 (1) Poisson’s ratio of a metal is 

1.2.  

 (2) Unit of strain is mm. 

 (3) Product of modulus of 

elasticity and MI is flexural 

rigidity. 

 (4) For safety, factor of safety is 

less than 1. 

78. The process of taking out stones 

of various sizes from natural rocks 

is known as  

 (1) Dressing 

 (2) Seasoning 

 (3) Quarrying 

 (4) None of these 

 

79. The process of giving definite and 

regular shape to quarried stone is 

called  

 (1) Pitching 

 (2) Dressing 

 (3) Seasoning 

 (4) Quarrying 

 

80. The standard size of modular 

brick including mortar thickness is  

 (1) 23 × 12 × 8 cm3  

 (2) 19 × 20 × 19 cm3 

 (3) 20 × 20 × 10 cm3 

 (4) 18 × 9 × 9 cm3 
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81. �4ం�ಗె �పJZ ಸెౕప/ಡె ಮాడలు ಕారణ 

 (1) ಪా$రం^క ఆద$/న సమయ ಹెz
సలు 

 (2) ಪా$రం^క ఆద$/న సమయ త3�సలు 

 (3) సంeౕడన ಸామథ�/ ಹెz
సలు 

 (4) బంQ (ಬాం[) ಸామథ�/ ಹెz
సలు 

 

82. మరద వ�ౕಮానవనుC dధ/�సువುదు 

ఇద�ంద 

 (1) 4డూ�ల� Uరణగళು 

 (2) మరద ఎత*ర 

 (3) ఆను�లL ఉంగురగళು 

 (4) ಕా�ం%యం పదర 

 

83. � ಚాಟె�యj/ ఉపకరణవು ఇదಕె? 

ఉపయుక*  

 (1) �4ం�న ఏకరూపತె ప�ౕ�ె 

 (2) �4ం�న దృఢತె ప�ౕ�ె 

 (3) సంeౕడನా ಸామథ�/ 

 (4) �3�సువ/ಟెನెJౖh ಸామథ�/ 

84. ಪె ౖవು[ నుC ఇద�ంద స�ౕక�సబహుదు 

 (1) ಗాత$ 

 (2) తూక 

 (3) దపO 

 (4) P�*ౕణ/ 

 

85. సమతಟా�ద ಹాగూ లంబ ಕెూౕన ಮాపన 

ಮాడలు ఉప�ౕ3సువ స�ౕ�ా 

ఉపకరణ 

 (1) డంeಲెವెh  

 (2) ¨�ಡెూౕಲైl 

 (3) e$ಸాS�f కంಪాj  

 (4) స�ౕ�కర కంಪాj  

 

86. ಯావುದెౕ ಸె�ౕషi న�  సమతల 

వలయవనుC ఆద$/ಗెూA�ద 4ౕಲె (ಸె�ం� 

అr) నంతర wదల ತాತా?�క 

ಹెూంದా�ಕెయనుC, ಮాడువంతహుదు 

 (1) ఓ�mంಟెౕషi  

 (2) ಸెంట�ం�  

 (3) ಲెవ�ం�  

 (4) ಸై�ం�  
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81. Gypsum is added in cement to  

 (1) Increase its initial setting 

time  

 (2) Decrease its initial setting 

time 

 (3) Increase its compressive 

strength 

 (4) Increase its bond strength 

 

82. The age of a tree can be 

determined from  

 (1) Medullary rays  

 (2) Height of tree 

 (3) Annular rings 

 (4) Cambium layer 

 

83. Le Chatelier’s apparatus is used to 

carry out   

 (1) Consistency test of cement  

 (2) Soundness test of cement 

 (3) Compressive strength 

 (4) Tensile strength 

84. Plywood is identified by  

 (1) Volume  

 (2) Weight 

 (3) Thickness 

 (4) Area 

 

85. The survey instrument which is 

used to measure horizontal and 

vertical angles  

 (1) Dumpy level  

 (2) Theodolite 

 (3) Prismatic compass 

 (4) Surveyors compass 

 

86. The first temporary adjustment to 

be done after setting up the plane 

table at any station will be  

 (1) Orientation  

 (2) Centering 

 (3) Levelling 

 (4) Sighting 
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87. సమఉనC�య %ందుగళనుC ಸెౕ�సువ 

ಕాలOdక ರెౕಖెయ ಹెసరు  

 (1) ఐಸెూౕಬాL  

 (2) ಕాంటూj/  

 (3) ఎ�ವెౕటj/  

 (4) ఇవುగళ�  ಯావುవೂ అల  

 

88. ಹా�జರెౕಖెగళనుC ಹెದ vా�గళ�  dౕడువುదు 

ఇదನెూCద3సలు  

 (1) ವాహనగళ అQక ವెౕగ 

 (2) ವాహనగళ ವెౕగ dబ/ంధ 

 (3) ఇళುకలు క$4ౕణ బదಲావಣె 

 (4) =U?న క$4ౕణ బదಲావಣె 

 

89. ಹెದ vా�గళ 4ౕలు అంచనుC ఒళఅంzಗె  

సంబంQ�దంತె ಕెూంచ ఎత*��దರె ఇదర 

ಹెసరు 

 (1) ఎ�ವెౕటL గళು 

 (2) ವెౕగ తಡెగళು 

 (3) అQఉనC� (సూపL ఎ�ವెౕషi) 

 (4) ఏ�ಕెగళು 

90. ನెలగళು, అడుಗె మನె మతు* 

ಸాCనగృహగళ� న dౕరనుC సంగ$�సువ 

ನెలಜాలవనుC �ౕಗెనుCవరు. 

 (1) గ�  ಜాల 

 (2) న�C ಜాల 

 (3) ఇంటL ಸెe�ం� ಜాల 

 (4) ఎj.  ಜాల 

 

91. �4ం�న సంeౕడన ಸామథ�/ dవ/�సలు 

ಗాರె ఘనవనుC తಯా�సలు ಹాకువ dౕ�న 

తూక  

 (1) 3+
4

p

 

 (2) 3+
2

p
 

 (3) 4+
4

p

 

 (4) 5+
4

p

 

 

92. ಕాంU$ౕ�న�  బళಕెಯాగువ అ3$ಗెౕl న  

ఇంಪా�f� ಬెಲెయు సವెయువ 4ౕಲె� రచನె 

ಪెౕవ4ంటుగళು రಸె*గళು మతు* 

ఇళುకలుగళು- ఇదU?ంత అQకವాగಬారదు 

 (1) 60% 
 (2) 50% 

 (3) 40% 

 (4) 30% 
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87. Imaginary lines which joins the 

points of equal elevation are 

called  

 (1) Isobar  

 (2) Contours 

 (3) Elevators 

 (4) None of these 

 

88. Horizontal curves on highways 

are provided to give  

 (1) High speed for vehicles  

 (2) Restrict speed of vehicles 

 (3) Gradual change in gradient 

 (4) Gradual change in direction 

 

89. The upper edge of highways are 

slightly elevated with respect to 

inner edge. This is called  

 (1) Elevators  

 (2) Speed breakers 

 (3) Super elevation 

 (4) Risers 

90. A floor trap commonly used to 

collect water from the floors, 

kitchen & bath- rooms is called   

 (1) Gully trap  

 (2) Nahni trap 

 (3) Intercepting trap 

 (4) S-trap 

 

91. The weight of the water to be 

added to prepare the mortar cube 

to conduct compressive strength 

of cement is  

 (1) 3+
4

p

 

 (2) 3+
2

p
 

 (3) 4+
4

p

 

 (4) 5+
4

p

 

 

92. The impact value for the 

aggregates used in concrete for the 

construction of wearing surfaces 

such as pavements, roads & 

runways etc. shall not exceed  

 (1) 60% 

 (2) 50% 

 (3) 40% 

 (4) 30% 
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93. ఎfJ-PUరణ (x-ray) ಕెూఠHಗె సూక* 

ಪ  ాస�L         ఎందರె 

 (1) ಪ  ాస�L ఆ� ಪా��j  

 (2) ಬెౕ�యZ ಪ  ాస�L  

 (3) �4ంటు ಪ  ాస�L  

 (4) ಗా$ನైటు ��ಕెూౕi ಪ  ాస�రు 

 

94. ರాంUiJ సూత$ 
2

sin1

sin1p









φ+

φ−

γ
 అనుC ఈ 

ಲెಕా?ಚారಕె? బళసಲాగువುదు. 

 (1) బుನా=య అగల 

 (2) బుನా=య ఆళ 

 (3) బుನా=య ಧారణ ಸామథ�/ 

 (4) బుನా=య బಗె 

95. �4ంl జ� య కdష] అళತెయు సರాస� 

ವా�సU?ంత _____ రషు� కH4 ఇదvರె �4ంటు 

జ� యనుC చಕె? ఎనCబహుదు.  

 (1) 
5

1
  

 (2) 
5

2
 

 (3) 
5

3
 

 (4) 
5

4
 

 

96. ಕాంU$ౕl ఘటకగళనుC ఏకరూప 

అనుಪాతద సలుವా3 ಕైಗెూళು�వ 

సమంజస ಹాగూ dఖర ಮాపనద ಹెసరు 

 (1) ಗె$ౕHం�  

 (2) ಬా�zం�  

 (3) �UJం�  

 (4) ಕా�ట/�ం�  
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93. The suitable plaster recommended 

for X-ray room is  

 (1) Plaster of Paris  

 (2) Barium plaster 

 (3) Cement plaster 

 (4) Granite silicone plaster 

 

94. The Rankine’s formula 

2

sin1

sin1p









φ+

φ−

γ
 is used to calculate  

 (1) width of foundation  

 (2) depth of foundation 

 (3) bearing capacity of 

foundation 

 (4) type of foundation 

95. The aggregate is said to be flaky if 

its least dimension is less than 

_______ of the mean diameter.  

 (1) 
5

1
  

 (2) 
5

2
 

 (3) 
5

3
 

 (4) 
5

4
 

 

96. The process of proper and 

accurate measurement of concrete 

ingredients for uniformity 

proportion is known as  

 (1) Grading   

 (2) Batching 

 (3) Mixing 

 (4) Quartering 
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97. సుర±త, సమS�సಲాద ಲెూౕ[ ఒద3సలు 

ఇరువ అవಕాశవು wదల దಜె/య ఇ��ಗె 

ಕెలస C:M ಗె సంబంQ�దుv ఇదಕె? 

సమವాదుదు 

 (1) 280
2m/kN   

 (2) 580 
2m/kN  

 (3) 680 
2m/kN  

 (4) 880 
2m/kN
 

 

98. సంzత ಶెౕకಡాವారు అ3$ಗెౕl గళು ప$� 

జరHಯాడుPಕె�ం=ಗె 80 mm - 0.150 mm 

ವా�e*యవು బంద ప$జురవనుC ఆ%/ట$� 

సంಖె� 100 �ంద ಭా3�ದాగ బరువంతహుదు. 

 (1) శೂన� అనుಪాత 

 (2) నయತె ಮాడులj 

 (3) Poష� ಸాంద$ತె 

 (4) బh? ಮాడులj  

99. ಪ  ాస��ం� ಮాడుವాగ wదల, ఎరడನెయ 

మతు* మూరನెయ పదరు d�/�య ಹెసరు 

అనుక$మವా3 

 (1) ರెండ�ం� ಕెూౕl, ² ౕ�ం� ಕెూౕl, 

ಸె�ం� ಕెూౕl  

 (2) ರెండ�ం� ಕెూౕl, ಸె�ం� ಕెూౕl, 

² ౕ�ం� ಕెూౕl  

 (3) ² ౕ�ం� ಕెూౕl, ಸె�ం� ಕెూౕl, 

ರెండ�ం� ಕెూౕl 

 (4) ಸె�ం� ಕెూౕl, ರెండ�ం� ಕెూౕl, 

² ౕ�ం� ಕెూౕl 

 

100. ಪా�రಪెl ಗెూౕಡెయ ಕాంಪౌంHన 4ౕಲె 

ಹాకಲాగువ క� న పదరు మಳెయ ర�ಣెಗె 

ఇరువంతహదు. ఇదర ಹెసరు 

 (1) ಥెూ$ౕ�ం�  

 (2) ವెద�ం�  

 (3) ಕెూౕeం�  

 (4) ఇవುగళ�  ಯావುవೂ అల  
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97. The safe permissible loads 

allowed on first class brick 

masonry in C:M is equal to  

 (1) 280 kN/m2  

 (2) 580 kN/m2 

 (3) 680 kN/m2 

 (4) 880 kN/m2 

 

98. The parameter which is obtained 

by adding the cumulative 

percentage of aggregates returned 

on each sieve ranging from 80 

mm to 0.150 mm and dividing the 

sum by an arbitrary number 100 is   

 (1) Void ratio  

 (2) Fineness modulus 

 (3) Specific gravity 

 (4) Bulk modulus 

99. First coat, second coat and third 

coat in plastering are also 

respectively known as  

 (1) Rendering coat, Floating 

coat, Setting coat  

 (2) Rendering coat, Setting coat, 

Floating coat 

 (3) Floating coat, Setting coat, 

Rendering coat 

 (4) Setting coat, Rendering coat, 

Floating coat 

 

100. A course of stone which is laid at 

the top wall of a compound wall 

or a parapet wall so as to protect 

the wall from the rain water is 

called  

 (1) Throating  

 (2) Weathering 

 (3) Coping 

 (4) None of these 



 ¡¼åê¾ Ê²µåßå’æ”˜™ ÜÈåÀâÿå
SPACE FOR ROUGH WORK

126-A (46 - A)



 ¡¼åê¾ Ê²µåßå’æ”˜™ ÜÈåÀâÿå
SPACE FOR ROUGH WORK

(47 - A) 126-A



ÔåÚÈå¤Äó ’ðëé µ́ó

† ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð²ìåêÄåêÆ ¼ð²µð²ìåêêÔåÒ¼ð ÅÔåê˜µð ½â–ÜÈåêÔåÔå²µð˜µåë …ÁµåÄåêÆ ¼ð²µð²ìåê’åë´µåÁµåê.

ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð
ÅÁ™¤ÚÈå± ÇÈå½Ð’ð

(ÇÈå½Ð’ð-II)
úúúúú

µ̃å²™ÚÈå³ ÜÈåÔåê²ìåê ‘ 2 µ̃åÒ ð̄̃ µåâÿåê µ̃å²™ÚÈå³ ƒÒ’å̃ µåâÿåê ‘ 200

A

ÕÚÈå²ìåê ÜÈåÒ’ðé¼å : 126

ÜÈåëôåÄð˜µåâÿåê
1.  ÇÈå²™é’ðÛ ÇÈæÐ²µåÒÊ·å̃ µðëÒ µ́å ¼å’åÛ¸Ôðé õ.ŠÒ.„²µó.  ‡¼å¾²µå ßæâÿð²ìåêÑ–Ó ÇÈåÐ×ðÆ ÇÈå½Ð’ð ×ðÐéº²ìåêÄåêÆ ̃ µåê²µåê¼åê Ôåìæ µ́åêÔå

ÔðëÁµåÑê, † ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÑ–Ó ÔåêêÁ™Ð¼åÔæ µ̃åÁµå ƒÁ¿·µåÔæ ßå²™Á™²µåêÔå ƒÁ¿·µåÔæ ²ìåìæÔåíúÁµðé ÇÈåíú® …ÑÓÁ™²µåêÔå ƒÁ¿·µåÔæ
ÔåêêÁ™Ð¼åÔæ µ̃åÁµå ÇÈåÐ×ðÆ µ̃åâÿåê …¼æÏÁ™ §âÿå̃ µðëÒ ™́ÑÓÔðÒÊêÁµåÄåêÆ ÅéÔåíú ÇÈå²™é“ÛÜÈå¼å’å”ÁµåêÂ. ÔðêéÑ–Äå ²ìåìæÔåíúÁµðé ÁµðëéÚÈå
’åÒ µ́åêÊÒÁµåÑ–Ó ƒÁµåÄåêÆ àÒ½²µåê ™̃ÜÝ ÑÊ·åùÏÕ²µåêÔå ×ðÐéº²ìåê ÇÈå²™ÇÈåî¸¤ÔæÁµå Êðé²µð ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÄåêÆ ÇÈǻ µð²ìåê¼å’å”ÁµåêÂ.

2. ƒÊ·åùÏÁ¿·™¤²ìåêê ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåê ÔåÚÈå¤Äó ’ðëé µ́ó A, B, C ƒÁ¿·µåÔæ D, ƒÄåêÆ Ôåê¼åê¾ ÄðëéÒÁµåº ÜÈåÒ•ÿðÏ²ìåêÄåêÆ  OMR

‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–Ó ƒÁµå’æ” ™̃ §Áµå̃ ™ÜÈåÑæ ™̃²µåêÔå ÜÈåÀâÿåÁµåÑ–Ó Ê²µðÁµåê ÜÈåÒ’ðé¼å (ŠÄó ’ðëé µ́ó) µ̃ðëâ–ÜÈåÊðé’åê. ßæ µ̃åë
Å˜µåÁ™¼å ÜÈåÀâÿåÁµåÑ–Ó ¼æÔåíú Ôåê¼åê¾ ÜÈåÒÕé’åÛ’å²µåê ÜÈåà Ôåìæ´™²µåêÔåíúÁµåÄåêÆ •¡¼å ÇÈå´™ÜÝ’ðëâÿåäÊðé’åê. õ.ŠÒ.„²µó.
ßæâÿð²ìåêÑ–Ó  ½â–ÜÝ²µåêÔå ²ìåìæÔåíúÁµðé Ôåìæà½²ìåêÄåêÆ Ê·å½¤ Ôåìæ µ́åêÔåíúÁµåê/ŠÄó ’ðëé µ́ó Ôåìæ µ́åêÔåíúÁµåê ƒÊ·åùÏÁ¿·™¤ µ̃åâÿå
¦ÔæÊæÂ²™²ìåìæ ™̃²µåê¼å¾Áµð. §ÒÁµåê Ôðéâÿð Ê·å½¤ Ôåìæ µ́åÁ™ÁµåÂÑ–Ó/¼åÇÝÉÁµåÂÑ–Ó ƒÒ¼åßå õ.ŠÒ.„²µó. ‡¼å¾²µå ßæâÿð²ìåêÄåêÆ
½²µåÜÈå”²™ÜÈåÑæ µ̃åêÔåíúÁµåê.

3. ÇÈå’å”ÁµåÑ–Ó §Áµå̃ ™ÜÝ²µåêÔå ôò’åÁµåÑðÓé ÅÔåêÍ ÄðëéÒÁµåº ÜÈåÒ•ÿðÏ²ìåêÄåêÆ
ÄåÔåêëÁ™ÜÈåÊðé’åê. ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåêÑ–Ó Êðé²µð ‹ÄåÄåëÆ Ê²µð²ìåêÊæ²µåÁµåê.

4. † ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð 100 ÇÈåÐ×ðÆ µ̃åâÿåÄåêÆ §âÿå̃ µðëÒ ™́²µåê¼å¾Áµð. ÇÈåÐ½²ìðëÒÁµåê ÇÈåÐ×ðÆ²ìåêê 4 ‡¼å¾²µå̃ µåâÿåÄåêÆ §âÿå̃ µðëÒ ™́²µåê¼å¾Áµð.
ÅéÔåíú ‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–Ó ̃ µåê²µåê¼åê Ôåìæ µ́åÊðé’ðÒÁ™ÅÜÈåêÔå ‡¼å¾²µåÔåÄåêÆ „²ìðê” Ôåìæ ™́’ðëâ–ä. §ÒÁµåê Ôðéâÿð ƒÑ–Ó §ÒÁµå“”Ò¼å
ßðôåê¢ ÜÈå²™²ìåìæÁµå ‡¼å¾²µå̃ µåâ–Ôð²ìðêÒÁµåê ÅéÔåíú Ê·æÕÜÝÁµå²µð ƒ¼åêÏ¼å¾ÔåêÔðÅÜÈåêÔå ‡¼å¾²µå’ð” ̃ µåê²µåê¼åê Ôåìæ ™́. ‹Äðé „Áµå²µåë
ÇÈåÐ½ ÇÈåÐ×ðÆ µ̃ð ÅéÔåíú ’ðéÔåÑ §ÒÁµåê ‡¼å¾²µåÔåÄåêÆ Ôåìæ¼åÐ „²ìðê” Ôåìæ µ́åÊðé’åê.

5. ŠÑæÓ ‡¼å¾²µå̃ µåâÿåÄåêÆ ÅÔåê µ̃ð §Áµå̃ ™ÜÈåÑæ ™̃²µåêÔå ÇÈåÐ¼ðÏé’å ‡¼å¾²µå ÇÈå½Ð’ð²ìåêÑ–ÓÓ (OMR Sheet) ’ðéÔåÑ ’åÇÈåíþÉ ƒÁ¿·µåÔæ ÅéÑ–
×æÎê²ìåê  ÊæÑóÇÈæÎêÒ¯ó ÇÈðÅÆÄåÑ–Ó Ôåìæ¼åÐ µ̃åê²µåê¼åê Ôåìæ µ́åÊðé’åê. ‡¼å¾²µå ÇÈå½Ð’ð ßæâÿð²ìåêÑ–ÓÄå ÜÈåëôåÄð̃ µåâÿåÄåêÆ

µ̃åÔåêÅÜÈåêÔåíúÁµåê.
6. ŠÑæÓ ÇÈåÐ×ðÆ µ̃åâ–̃ µð ÜÈåÔåìæÄå ƒÒ’å̃ µåâÿåê. ÇÈåÐ½ ¼åÇÈåíþÉ ‡¼å¾²µå’ð” ÇÈåÐ×ðÆ µ̃ð Å µ̃åÁ™ÇÈǻ ™ÜÝÁµå ƒÒ’å̃ µåâÿå 0.25 ²µåÚÈåê± ƒÒ’å̃ µåâÿåÄåêÆ

’åâÿð²ìåêÑæ µ̃åêÔåíúÁµåê.
7. ¡¼åê¾ ’ðÑÜÈå’æ”˜™ ßæâÿð˜µåâÿåÄåêÆ ÇÈåÐ×ðÆ ÇÈåíúÜÝ¾’ð²ìåê ’ðëÄð²ìåêÑ–Ó ÜÈðé²™ÜÈåÑæ˜™Áµð. ÇÈåÐ×ðÆÇÈåíúÜÝ¾’ð²ìåê …ÄåêÆâ–Áµå ²ìåìæÔå

Ê·æ µ̃åÁµåÑ–Ó²ìåêë ÅéÔåíú ²ìåìæÔå ²™é½²ìåê ̃ µåê²µåê¼åÄåêÆ Ôåìæ µ́å¼å’å”ÁµåÂÑÓ.
8. ÇÈå²™é’ðÛ²ìåê Ôåêê’æ¾²ìåêÔåÄåêÆ ÜÈåë¡ÜÈåêÔå ƒÒ½Ôåê ̃ µåÒ ð̄ Êæ²™ÜÝÁµå ¼å’åÛ¸Ôðé ‡¼å¾²µå ÇÈå½Ð’ð²ìåê ßæâÿð²ìåêÑ–Ó …ÄæÆÔåíúÁµðé

µ̃åê²µåê¼åêÔåìæ µ́åêÔåíúÁµåÄåêÆ ÅÑ–ÓÜÈåÊðé’åê. ÜÈåÒÕé’åÛ’å²µåê ÊÒÁµåê ÅÔåêÍÑ–Ó²µåêÔå ‡¼å¾²µå ÇÈå½Ð’ð²ìåê ßæâÿð²ìåêÄåêÆ ¼åÔåêÍ Ôå×å’ð”
¼ð̃ µðÁµåê’ðëÒ µ́åê  Ñð’å”’ð” ¼ð̃ µðÁµåê’ðëâÿåêäÔåÔå²µð̃ µåë ÅÔåêÍ ÅÔåêÍ „ÜÈåÄåÁµåÑ–Ó²ìðêé ’åêâ–½²µå¼å’å”ÁµåêÂ.

9. ÇÈåÐ×ðÆ µ̃åâÿåê ’åÄåÆ µ́å Ôåê¼åê¾ „Ò µ̃åÓ Ê·æÚÈð²ìåêÑ–Ó²µåê¼å¾Ôð. ’åÄåÆ µ́å ÇÈåÐ×ðÆ µ̃åâÿåÑ–Ó ÜÈåÒÁµðéßå ‡Ò¯æÁµå²µð, Áµå²ìåêÕ®ê± „Ò µ̃åÓ Ê·æÚÈð²ìåê
ÇÈåÐ×ðÆ˜µåâÿåÄåêÆ ˜µåÔåêÅÜÈåêÔåíúÁµåê. ÇÈåÐ×ðÆ ÇÈå½Ð’ð²ìåê ÇÈåÐ×ðÆ˜µåâÿåÑ–Ó ²ìåìæÔåíúÁµðé ˜µðëÒÁµåÑ˜µåâ–ÁµåÂ²µåë „Ò˜µåÓÊ·æÚÈð²ìåê ÇÈåÐ×ðÆ˜µåâÿðé
ƒÒ½ÔåêÔæ ™̃²µåê¼å¾Ôð.

ÄðëÒÁµåº ÜÈåÒ•ÿðÏ

²ìåìæÔåíúÁµðé ²™é½²ìåê ÔðëÊðñÑó Ç·ÈðùîéÄó, ’æÏÑó ’åêÏÑðé®²µó Ôåê¼åê¾ …¼å²µð ²™é½²ìåê ŠÑð’æ±øÅ’ó/’åÔåêêÏÅ’åðéÚÈåÄó
ÜÈæÁ·µåÄå̃ µåâÿåê …¼æÏÁ™̃ µåâÿåÄåêÆ ÇÈå²™é’æÛ ’ðéÒÁµåÐÁµå „Ôå²µå̧ Áµðëâÿå̃ µð ¼å²µåêÔåíúÁµåÄåêÆ ÅÚÈðéÁ·™ÜÝÁµð.

Note : English version of the instructions is printed on the front cover of this booklet.126-A


